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Math 2550, Introduction to Multivariable Calculus

I Worksheet 1

Sections from Thomas 13" edition: 12.4, 12.5, 12.6, 13.1

Exercises
1. A plane is a set of points that satisfies an equation of the form c;2 + coy + c32 = ca.

(a) Find any three distinct points, P, ), R, in the plane 2z + 3y + z = 0.
(b) Use a cross product to construct a vector perpendicular to the plane.

(c) How is the vector you created related to the vector made from the coefficients of z, y, and z in the
equation for the plane, which is 2i + 35 + &?

(d) Find any point that is not in the plane, S, and then find the closest point on the plane to S.

2. Calculate the cosine of the angle between the vector # = i + 2k and the plane 2z + y — 2z = 0. How are
the plane and the vector related to each other, geometrically? Why?

3. Find the distance between the point (1,2,3) and the line 7" = i+ 2k + t(% — 2}' + 31%)

4. Consider the line (—1,¢,1) and the plane 2z + y — z = 3, where ¢t € R. Find all values of ¢ so that the
distance between points on the line and the plane is 2+/6.

5. Consider the points P(1,0, 3), Q(2, 2, 3), R(0,0, —1).

(a) Find a vector that is perpendicular to the plane that passes through these points.

(b) Find a point S so that a unique plane that passes through P, @, and S cannot be found. Describe
why you cannot find a unique plane that passes through P, @), and your point, S.

6. Find the equation of the plane that passes through the point (-1,2,1) and contains the line x = y = 2.

7. Suppose we have two planes 2z +y —z = 3 and 4 3y + z = 0. Find the line of intersection between these
two planes, and find the equation of the plane that passes through the line of intersection and through
the point (0, 0, 0).
Group Work Problems
1. Consider the set of all points that are equidistant from the point (0, 1,0) and the plane z = 1.

(a) Find an equation that represents the surface.
(b) Briefly describe the surface in words.

(c) Give a rough sketch of the surface.

2. Consider the surfaces z = \/4 — 22 — y2 and y? + 2% — 2y = 0.

(a) Find a parametric vector representation, 7(¢), of the curve that satisfies both equations.

(b) Give a rough sketch of the surfaces and the curve in one plot.
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Additional Problems (if time permits)

1. Find the area of the triangle with the vertices (6,3), (4,5), and (3,4).

2. Indicate which of the following are always true.

4. Consider the surface z = az? + by?, where a and b are constants. Identify all possible surfaces for the
following cases, by stating the name of the surface and describing its orientation, if applicable.

(@ ab>0
(b) ab< 0
(c)a=b=0

5. The path of an object is given by #* = 2ti + t2; for t > 0. Sketch the curve in the zy-plane and indicate the
direction of motion.

6. S is the surface described by the equation 2% — 2z —y — 22 — 42 = 3. Create a rough sketch of S and name
the surface.
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Partial Solutions to WS 1

1. (a) If we choose x = 0,y =0, then z = 0, so P(0,0,0).
If we choose . = 1,y = 0, then 2 = —2,s0 Q(1,0, —2
If we choose = 0,y = 2, then z = —3,so R(0,1, —3

~

(b) A vector perpendicular to plane is N = PQ x PR = 2i + 3j + k. Any scalar multiple of this vector
is acceptable.

(c) In this case they are equal to each other. More accurately, they are scalar multiples of each other.

(d) A point not on the plane is S(0, 0, 1). The distance between S and the plane is ’P_’S N

N
2
2. Let the vector perpendicular to the plane be y = 1 |. The angle, 6, between the given vector and y
-1
is found by solving
cosf = =Y
[ Iyl
1 2
0 1
2 -1
V56
0
V5v6

=0.

The angle, 6, is /2. But 6 is the angle between x and y and we need the angle between x and the plane,
which is 7/2 — 6 = 0. Therefore, the desired angle is 0 (the given vector is parallel to the plane).

3. Distance Between a Point and a Line
A formula we can use is
|7 x ]|

p="1""1
|191]

where 7 is a vector parallel to the line, & = i — 2 + 3k. The vector @ is the directed line segment from a
point on the line to the given point

1 1 0
w=|2|—-]10]=1]2
3 2 1

Using these vectors in the distance formula yields D = 1/69/14.

4. Distance Between a Point and a Plane
A formula we can use is

where the normal vector to the plane is 7 = 2i + j — k. The point P(0,3,0) is in the plane, so PS =
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—i+ (t—3)j + k,and D = 2V/6. Thus,

V6
_ |t—6
Ve
12 = |t — 6|

Therefore, t = 18 or t = —6.

5. (a) We can start by finding the plane that contains the three points. The vectors P_Q) and PR are

JRHEL R RHEE

A vector perpendicular to the plane that contains the three points is found by calculating the cross
product between these two vectors:

PQ = , PR=

PG x PR = (—8 — (0))i — (—4 — 0)j + (0 — (~2))k = —8i + 4j + 2k
Any vector parallel to this vector is perpendicular to the plane that contains the given points.

(b) If the point S is such that P-Cj is parallel to 67)9, then there will be an infinite number of planes

that pass through these three points. Such a point, S, can be determined by multiplying P—Q) by a
constant. Choosing 2 as a constant, then

O =N

@:[

We determine the components of S as

1
6. The points (0,0,0) and (1, 1, 1) are on the given line, so the vector [ 1 ] is parallel to the desired plane.
1
Another vector parallel to the plane is

Therefore, a vector perpendicular to the desired plane is

1 -1 -1
lllx[ 2 ]:(1—2)i—(1+1)j+(2+1)k:[2].
1 1 3

The equation of the desired plane is

0=—-1z+1)—2(y—2)+3(z—1) = —x — 2y + 3z.
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7. Let the normal vector of the first plane be n;, and the normal vector of the second plane be n,. Then

2 1
n; = 1 s o = 3
-1 1

The line that intersects these two planes is a line that is in both of the planes, and therefore must be
perpendicular to both n; and n,. Therefore, the line we need is parallel to the vector, a, given by the
cross product

a=mn; xny; = (4,-3,5).

This vector is parallel to the desired plane. To find a second vector in the desired plane, we can find a
line from the given point to any point in the line of intersection of the two given planes. Letting y = 0,
we obtain the equations

20 —2=3
z+2z=0
which has the solution z = 1,z = —1. Therefore, the point (1,0, —1) is in the intersection of the two
planes, and a vector in the plane is
1 0 1
0 -1 0| = 0
1 0 1

A normal vector to the desired plane is
[1,0, —1]" x [4,-3,5]" = (0—3)i— (5+4)j+ (-3 - 0)k
=-3i—9j—-3k

The equation of the desired plane, using the point-normal form, is

0=(=3)(z=0)+(=9)(y—0)+(=3)( - 0)
= -3z -9y — 3z

Group Work Problems
1. The distance, d;, from the point (x,y, z) and the point (0, 1, 0) is given by

dy =22+ (y —1)2 + 22.
The distance, ds, from the point (z, y, z) and the given plane is
dQ = |Z — 1|

The points that are equidistant from the point (0, 1,0) and the given plane are the points that such that
d1 = dy. Therefore,

di =ds
Va2 +(y—1)2+22 =]z -1
22+ (y—1)2+2% = (2 - 1)?
4 (y—1)+22=22-22+1

4 (y—1)7%=-22+1
1

z:—§<x2+(y—l)2—1)
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The surface is an elliptic paraboloid that opens downward and whose vertex is located at the point
(0,1,1/2).

2. Below is a screen capture of hand written solutions.
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Additional Problems

— —2 —
1. Let the points be P(6,3),Q(4,5), R(3,4). Then PQ) = 2 |,PR =

triangle has area 2.
2. (a) @i = |i] is never true. @ - @ = |ii|?
(b) @ x (—a) = 0 is always true because the two vectors are co-linear.
(c) (4 x v)-u = 0is always true because the (u x ¥/) is perpendicular to .

3. (a) @x (b-¢) is not defined
(b) @- (b- &) is not defined
() @x (bx ¢) is defined
(d) @- (b x @) is defined
4. (a) If ab > 0, then a and b have the same sign. If they are both positive, the surface is an elliptic
paraboloid that opens upward. If ¢ and b are both negative, the surface is an elliptic paraboloid that
opens downward.

(b) If ab < 0, then a and b have opposite signs (i.e. - one is positive, the other is negative). The surface
is a hyperbolic paraboloid.

(¢c) Ifa=b=0,then z = 0.

5. z(t) = 2t,y = t* = (z/2)?, for t > 0. The plot should be one half of a parabola, with the object moving
away from the origin.

6. Completing the square, we can express S as (z — 1) — (z + 2)2 — y = 0. The surface is a hyperbolic
paraboloid.
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I Worksheet 2

Sections from Thomas 13*" edition: 13.2, 13.3, 13.4

Exercises

1. An object is moving along the curve #(t) = 5sin(nt)i + 5 cos(nt)j + 12ntk, t € R. Where could the object
be, if it has travelled a distance of 397 units along the curve, starting from P(0, —5, —127)?

2. An object is moving in the yz-plane. At point P, its tangent vector is T = k. What could the normal
vector be equal to at P? List all possibilities. Note: a similar question was on a Spring 2016 final exam.

3. An object is moving in the zy-plane along the curve shown in the graph. The direction of motion is
indicated with arrows. Identify the points where the curvature has a local maximum. Sketch the normal
and tangent vectors at those points.

-1

4. An object is moving along the curve 7#(t) = —91In(sect)i — 95, for 0 < t < 7 /4.

(a) Compute the arc length parametrization.
(b) Compute the unit tangent vector.

(c) Compute the curvature.

5. A ball is thrown from a height of 3 meters above the ground, at a speed of 2v/2 m/s, at an angle of
45° above the horizontal. A constant wind is blowing that adds a component of 4i m/s? to the ball’s
acceleration while it is in the air. Where does the ball land? You may use g = 10 m/ s2.

Group Work Problems

1. A golfer can send a golf ball 300m across a level ground. From the tee in the figure, can the golfer clear
the water? You may use g = 10 m/s?, but either way you may want to use a calculator.

Teg 310 m

o W W o owr o ow w o oo o W

2. An object is moving along the intersection of the plane y = 2 and the surface z = 22 + y2.

(a) Find a parametric representation for the motion.
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(b) Sketch of the plane, surface, and the curve. Without any calculation, indicate the point(s) where you
think the curvature, «, of your curve is maximized, and sketch the normal and tangent vectors at
that point.

(c) Verify your answer to the previous question by finding the point of maximum &, and calculate the
tangent vector at that point. Hint: some curvature formulas require fewer calculations than others.

(d) Find the equation of the osculating circle at the point where « is maximum.

Additional Problems (if time permits)

1. Without any calculation, what is the value of the normal vector in the second group work problem?
Calculate the normal vector for this problem when ¢ = 0 to verify your hypothesis.
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Partial Solutions to Worksheet 2
1. First note that at the point P, ¢ = —1. For convenience, let S = sin(nt) and C' = cos(nt).
7(t) = 581 + 5Cj + 127tk
#(t) = 5nCi — 58] + 12k
[3(t)] = my/52(S2 + C2) + 122

=52+ 122

= 137w

We want the points that are 397 units away from P along the curve. The distance between P and a point
on the curve at ¢ is

t
s(t) = / 137wdr =13n(t+ 1)
-1

We need the values of ¢ that yield a distance of 397 units away, which we find by solving

397 = [137(t + 1))
3=|t+1]
t=—4,2.

There are two points 397 units away, (0, 5, —487), and (0, 5, 247).
2. When the object is turning,
e N(t) indicates the direction that the object is turning,
e N

() is perpendicular to T', and
e N(t) has unit length.
Let N(t) = x(t)i + y(t)] + z(t)k. The object is moving in the yz-plane, so z(t) = 0 for all £. If N is
perpendicular to T at P, 0 = N - T = z,50 z = 0 at P. So N = y(t)j. But N also has unit length, so
y = +1. So if the object is turning at P, N = +J.
But wait! What happens if the object is not turning? The normal vector is undefined in this case.

The normal vector can be either: undefined, j, or —
3. Vectors T and N should be drawn in a way that they have the following properties.
(a) T and N should be perpendicular to each other
(b) T and N should have unit length
(c) T should point in the direction of motion

(d) N should point in the direction that the object is turning

The curvature is has three local maxima, indicated below with orange dots, along with a rough sketch of
vectors T' and N at those three points. The blue vectors are the tangent vectors, the purple vectors are
the normal vectors.
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4. First compute the velocity and speed.

1 d
T=—-9— —secti—0j =—9tant:
sect dt

speed = 9tant

(a) Integrating the speed from 0 to ¢ gives us the arc length parametrization.

¢ ¢
L(t) = / speed dr = / 9tanTdr = 91n(cos(7))|g = 91In(cost)
0 0

(b) The unit tangent vector, T is

T =v/lv] = -
(c) The curvature is zero, because the tangent vector is constant for all values of ¢.

5. Constructing the acceleration vector @ = 41 —107, we integrate twice and use the initial conditions to find
the position when the ball lands.
=4; — 10
T = (4t +c1)i + (=10t + ¢2)j
7(0) = 2\[(COS(7T/4)Z +sin(7/4)5) = 2(i + 7)
7= (4t + 2)i + (=10t +2)j
7= (26> + 2t +dy)i + (=5t2 + 2t + da)j

7= (2t + 2t)i + (—5t> + 2t +3);
The ball lands when the vertical component is zero, or when ¢ = 1. Using this time in the position vector

above, we find that the ball lands at the point (4, 0).

Page 11



Math 2550, Introduction to Multivariable Calculus

Partial Solutions to Group Work Problems

1. Below is a screen capture of hand written solutions.
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2. (@) Letz=t,y=2,and z =2 + 4.

F=t+27 4+ (* + )k
Any parametrization that satisfies the given equations is valid.

(b) The point of maximum curvature is at the vertex of the parabola, which is when ¢t = 0. The unit
tangent vector will be tangent to the curve and pointing in the direction of motion, which at the
vertex is only in the i direction, and T has unit length, so 7(0) = i. The normal curve will be
perpendicular to T, also has unit length, points in the direction that it is turning, so N (0) = k.

(c) Note that the curve is a parabola in the y = 2 plane, with equation z = t? + 4 = 22 + 4.

I ¥ € I (40 € I 2
" 77 77
(1+ (@) (1+E@2)" (1+eo?)
By inspection, the curvature has a maximum when = = 0. The tangent vector is
, i i+ 2t]
TH) = = = ——=
(t) o] 1+ 4t2

Soatt=0, f(O) =i, as we expected.

(d) The circle passes through the point P(0, 2, 4), lies above the parabola, and has radius 1/x(0)
so the centre of the circle is at the point Q(0, 2, 4.5). The circle has equation 22 + (2 — 4.5)% =
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Partial Solutions to Additional Problems

1. The normal vector is

. T'(¢
i~ L0
T (¢)|
We first obtain the derivative of T'.
dzo o doit2tk 4t . 2

k= (14 4t%)7%/2(—4ti + 2k)

t) = — =
dt ®) dt /1 + 4¢2 (1+4t2)3/21+ (1 + 4t2)3/2
We are interested in what happens when t = 0, and 7" (0) = 2k.

d

dtf(t)‘ - ](1 +42)73/2(—agi + 21%)] - ‘(1 + 4t2)’3/2‘ V1682 + 4

This quantity is equal to 2 when ¢ = 0. Thus,

We obtained N(0) = k, as expected.
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IIT Worksheet 3

Sections from Thomas 13" edition: 14.1, 14.2, 14.3

Exercises

1. For the following function, a) identify and sketch the domain, b) state the boundary of the domain, c)
indicate whether the domain is open and/or closed, and d) determine the range of g(z,y).

VIFT

g(a:,y) = m

2. (a) Give an example of a function whose domain is neither open nor closed.

(b) Give an example of a function of two variables, f(z,y), whose level curves, C' = f(z, y), are a family
of parabolas that are symmetric about the y-axis.

(c) Give an example of a function of two variables, g(z,y), whose domain is an open set, and whose
level curves, C = g(z,y), are straight lines with slope C.

(d) Give an example of a function of three variables, h(x, y, z), whose level surfaces are a family of cones
whose vertices are located at the origin.

3. An object is moving along the intersection of the plane y = 3 and the surface f(z,y) = 22 +y2. Sketch the
plane, surface, and path. Find the equation of the tangent line to the path at the point P(1, 3, 10), express
the line in parametric vector form, and add the tangent line to your sketch.

4. Question 66 from Section 14.3, which is: find the value of % at (1,—1,-3)if zz+ylnz -2 +4=0
defines z as a function two independent variables y and z.

5. Show that the limit does not exist.
x(x —1)3 + 9?2
m ) Td
(z,y)—(1,0) 4(x — 1)2 + 93
Group Work Problems
1. Identify where f(z,y) is continuous, where

foy) =4 PreoE @) #£ 01

—~
~—

2. Shown below is a function, f(z,y), and fy(z,y), on the domain —4 <z <4, -4 <y < 4.

i) Which of the two surfaces is f,(z, y)?

ii) Explain your reasoning.
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Partial Solutions to Worksheet 3

1. (a)

(b)

(©

(d)

2. (a)
(b)

(©)
(d)

For g(z, y) to be defined, its denominator cannot be zero. This implies that 0 # 2?y+zy* = zy(z+y).
Thus, ¢ # 0, y # 0, and y # —=z. The numerator of g(x,y) also cannot be complex, which implies
thaty + 1 > 0, or that y > —1. The domain is the set D = {(z,y)|ly > -1,z # 0,y # 0,y # —z}.

VAT

A boundary of a region is the set of boundary points, and a point is a boundary point if every ball
centered on that point contains points inside the region and points outside the region. So the lines
y=—1,2 =0,y = 0,y = —z are all boundaries of the domain, and the boundary of the domain is
the set of these lines.

A region is closed if it contains its entire boundary, which the domain does not. So the domain is
not closed.

A region is open if it only consists of its interior points. But the domain contains the boundary line
y = —1, so the region is also not open.

The entire domain, D, is neither closed nor open.

The numerator is always non-negative, and the denominator can be any real number. The range is
the set of all real numbers (if you aren’t yet convinced, try setting y = constant and see what you
get).

z—1

y+1 -

Parabolas whose vertices are at the point (0, C') can be expressed as

One example is f(z,y) =

y=C — 22
Solving for C, we obtain
C=y+a?

A function with the desired properties is

flz,y) =y+a?

There are many other acceptable solutions to this problem.

Straight lines with slope C have the form y = Cz. A function that meets the given criteriais f = y/z.
The domain is the open set x # 0.

Cones with vertex at the origin have the form 2? = C(z? + y?). A function that meets the given
criteria is

22

I2+y2
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3. fo(z,y) = 2z, f,(1,3) = 2, so equations for tangent line are y = 3,2 — 10 = 2(z — 1), or z = 2z + 8.
In parametric form, we can let z = t, and represent the tangent line as 7(t) = ti + 35 + (8 + 2t)k, for
parameter ¢. Alternatively, if we want to use the point P(1,3,10) in our definition of the line, we could
also use I(s) = (1 + s)i 4 3] + (10 + 2s)k, for parameter s. These representations of the tangent line are
equivalent.

Note: be careful to not confuse the tangent line with the tangent vector. The tangent vector, T to our
path, #(t) = ti + 3j + (t> + 9)k, at any point, is

() = velocity v 1r'(t) i+ 2tk
speed [o] ()] 1+ 22¢2

At P, t = 1, and the tangent vector, f(l), is

. i+ 2k
T(1) =
="
4. Implicit differentiation:
or y Ox ox
z L0 9pll —
8zz+m+x82 x@z 0

(z+y/x— Qx)% =—x
At the given point, 22 = 1/6.

5. (a) When we evaluate f(x,y) at the limit point, we find f(1,0) is an indeterminant form of type 0/0. It
may be that f is not continuous at the point (1, 0). In one dimension, we would use ’'Hospital’s rule
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to evaluate such a limit. But 'Hospitals rule only works for functions of one variable, and we have
a multivariable function. So for this problem, we will try approaching the limit point along curves
that pass through the limit point. We can try evaluating the limit along y = m(x — 1), which passes
through (1,0).

z(r —1)3 4 ¢? . x(r—1)3+m?(x —1)2 . xfr—1)+m?  m?

1. _— = = _— —_—
(x,y)lir%l,o) 4(x —1)2 4+ 9y3 ] Az —1)24+9Im3(z —1)3 i1 4+ I9m3(x —1) 4

Because the value of the limit depends on the path of approach, the limit does not exist.
(b) Along the path y = max, we obtain

£L‘y2 xm2x2 m2;c

o (w,y)lin(0,0) 14+ miaz?

et AN Bihediode A
(z,9)—(0,0) 22 4+ y4 (a:,y)lin(0,0) 22 + mixd
We might be tempted to believe that this limit exists. But along the path z = my?, we find
. zy? . my* m
lim ———— = lim 51 1= 3
(@y)—(00 22 +yt  @y—©0 miyt +yt m? +1

Because the value of the limit depends on the path of approach, the limit does not exist.

Partial Solutions to Group Work Problems

1. Our given function, f, is a rational function, everywhere, except at (0,1). Rational functions are continu-
ous everywhere on their domain, and

2= (y—1)°
z? 4 (y — 1)

has the domain D = {(z,y) | (z,y) # (0,1)}. For a function of two variables, f(z,y), to be continuous at
a point (zg, o), we need

f(‘r()vyo) = lim f(xmy)
(@,y)=(20,30)
This is the definition of continuity at a point. There are a few ways that we can show that this particular
limit does not exist. One strategy is to compare the limits along the lines z = 0 and y = 1. Along z =0,
we have
0-(y—-1*_

lim  f(z,y) = lim =-1

(z,y)—(0,1) y—10+ (y — 1)2
It does not matter what happens at the limit point, the function approaches -1 as y tends to 1. Along
y = 1 we have

2

¢ —0

lim z,y) = lim —— =
(z.y)—(0.1) fl) =0y g

We obtained two different values for the limit when approaching along two different paths, so the limit

does not exist. Therefore, the function is not continuous at (0,1), and is continuous elsewhere.

Another more general strategy is to consider paths of the form y = kx + 1, or y — 1 = kz. We would
obtain
22 — k222 1— k2

1. = 1' =
(w:y)lam(m) J(@y) 200 72 + k222 1+ k2

Because the result depends on £, the limit does not exist.

Regardless of which strategy you decide to use, be sure to consider paths that approach the limit point.
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2. There are a few different ways to approach this problem. One strategy is consider the behaviour of the
functions at a point, and another strategy is to consider the behaviour of the functions along lines.

e At a point: consider the point where x = 4,y = —4. If (A) is f(z,y), then the rate of change of
f(4, —4) in the y-direction is negative. But at z = 4, y = —4, the surface in (B) is not negative. If (B)
is f(z,y), then the rate of change in the y-direction is negative at v = 4,y = —4, and the surface at
that point is also negative. So (B) is f, and (A) is f,.

¢ Along a line: consider the line z = 4. If (B) is f(x, y), then the slope of the surface in the y direction
is negative when y = —4, then as y increases it becomes positive, then negative. This behaviour is
consistent in (A) along the line z = 4. However if (A) were f(z,y), then the slope of the surface in
the y direction starts negative, then becomes positive, then negative. But the value of the surface in
(B) is positive at (4, —4). So (B) must be f(z,y).

You might be wondering about how to deal with not having values labeled on the z-axis. Keep in mind
that f, must have positive and negative values, because the rate of change in the y-direction of f(x,y)
has positive and negative values.
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IV  Worksheet 4

Sections from Thomas 13" edition: 14.4, 14.5, 14.6

Exercises

1. Below is a contour map for a function f(z,y). At points P and Q, draw the normalized gradient vector

—

\%
g(x,y) = ﬁ

Note: this problem is based on a question from a 2015 Math 2401 quiz created by Dr. Tom Morley.

2. Consider f(z,y,2) = vz + y>.

(a) Determine the maximum rate of change of f(z,y,z), and the direction in which it occurs, at the
point (1,1, 2).

(b) If z = cost,y =t+1, 2 =t + 2, use the chain rule to find %, f(x(t), y(t), 2(t)) at the point (1, 1,2).

(c) Approximate the value of f(1,0.9,2.1) with a linear approximation.

3. Find the directional derivative of f = zIn(z/y) at P(1,1,2) towards the point Q(2,2, 1). Provide a geo-
metric interpretation of your derivative.

4. The radius of a cylinder is decreasing at a rate of 2 cm/s while its height is increasing at a rate of 3 cm/s.
At what rate is the volume changing when the radius is 10 cm and the height is 100 cm?

5. Calculate du/dt given that u = 2* — y?, x = t* — 1, and y = 3sin(nt).
6. Consider the surface z2yz + xy — y?2% = —27.

(a) Construct an equation of the tangent plane to the surface at P(1,3,2).

(b) Construct a parametrization of the normal line at P(1, 3, 2).

7. Consider the surface z = 23y — 2%2y?. Construct two different vectors that are normal to this surface at
P(2,1,4).

8. Let f(x,y,2) = e* + cos(y + z). Compute the linearization of f at P(0,7/4,w/4).
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Group Work Problems

1. A closed rectangular box 2 inches long, 0.5 inches wide, 4 inches high, is covered by a coat of paint 5
inches thick. Use a differential to estimate the amount of paint on the box.

2. Let z = f(z,y) = In(42? + y*). Note: this question is based on a 2016 Math 2550 midterm question.

(a) Identify all possible unit direction vectors, 4, that satisfy Dz f(1,1) = 0.

(b) Identify all points, if any, on f(z,y) = In(42? + y?), where the tangent plane is parallel to the plane
dr — 2z =3.
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Partial Solutions to Worksheet 4 Exercises

1. Your vectors should have unit length, should be perpendicular to the level curve at the points they are
drawn, and the gradient vectors should point in the direction of steepest ascent.

2. (a) Atany point, the maximum rate of change occurs in the direction of @ = V f/|V f| and the rate of
change in this direction is Dz = V f - 4.
Vf=zi+2yj+ak
VI(1,1,2) =2i+2j + 1k
IVf(1,1,2)] = V22422 +12 =3
1 A
U= §(2i + 27 + 1k)
1

Dg(1,1,2) = V£(1,1,2) - @(1,1,2) = 5(22 +2241%) =3

The maximum rate of change at the point is 3, and the direction in which the rate is maximum is

@ = 1(2i+2j + 1k).
(b) The chain rule gives

Vv v

= (i +2yj + xk) - (sinti + ] + k)
=zsint+ 2y +x
= (t+2)sint+2(t+ 1) + cost

At the given point, ¢t = 0, and f/(0) = 3.
(c) The total differential of f is df, and Af = df,

Af ~df = f.(1,1,2)dz + f,(1,1,2)dy + f.(1,1,2)dz = 2(0) + 2(=0.1) 4 (+0.1) = —0.1
A linear approximation to f at (1,1,2)is f(1,1,2) —0.1=2+1-0.1 =2.9.
3. First compute the gradient at point P.

Vf= i%(z ln(:c/y))% + %(2 ln(:c/y))j + %(zln(x/y))k

= =g mle/))i-+ =5 Wne/) ) + ) (5 (2))
z 0 N 0 o 7
- x—/y%(as/y)z + %%(x/y)j + In(z/y)k

~ AN ~
=Zi-Zi+1 Je
Si i Ina/y)

z

Vf(1,1,2) =2i —2j + 0k
Let the unit vector pointing from P(1,1,2) to Q(2,2,1) be .

oo | 1| L
e

The desired directional derivative is the dot product V f - 4.
1 2 1
VF1,1,2) d=—| -2 |-| 1 | =0
(1,1,2) il !

Page 21



Math 2550, Introduction to Multivariable Calculus

Therefore, the directional derivative, at the point (1,1,2), in the direction pointing towards (2,2, 1), is
zero. Geometrically, this means that the value of the function f is not changing in the specified direction.

4. Use V = 7R?H and use the chain rule.

V =7R’H
OV _OVdR OV dH
ot gR dgH) OH dt -
(TR ™
~~or VT om ©
= 27RH(-2) + (7R?)(3)
= —47RH + 37 R?

When R = 10 and H = 100, we have
ov

pr —47-10 - 100 + 37(10)? = —40007 + 3007 = —37007.

5. We can approach this in two different ways. We can use the chain rule, as follows.

du 8ud£ audi/

dt " owdl " dydt
=2z - 2t + (—2y) (37 cos(mt))
= 4t(t* — 1) — 6sin(nt) - 37 cos(nt)
= 4t(t? — 1) — 187 cos(nt) sin(nt)

We could also substitute our known values for x and y first, and then differentiate.

CC%” - %@2 — ) = %((R 12— (3 sin(wt))2)

= 2(t* — 1)(2t) — 67 sin(nt) - 3 cos(nt)
= 4t(t* — 1) — 187 cos(t) sin(nt)

6. Let F(x,y, z) = 22yz + 2y — y?22. A vector that is perpendicular to this surface at (1, 3,2) is VF(1, 3, 2).
perp

%F 2ryz +y 15
VF(z,y,2)= | & F | =| 2?2+2—2yz* | = VF(1,3,2)=| -21
3@2}7‘ 22y — 2922 -33

(a) We now have a vector that is normal to the surface at (1, 3,2). The dot product between this vector,
and any vector in the plane, is going to be zero.

rz—1 15 rz—1
0=VF(1,3,2)- | y—3 |=| 21| -| y—3
z—2 —-33 z—2

Thus, the tangent plane is given by 15(z — 1) — 21(y — 3) — 33(z — 2) = 0, which simplifies to
15z — 21y — 33z = —114.

(b) The normal line is given by the parametric equations

r=1+15t, y=3—21t, z=2— 33t
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7. Let F(z,y,2) = 2y — 2?y? — z. Then the surface z has a normal vector given by the gradient VF.

3(2)%(1) — 2(2)(1)? } - [ g
—1

322y — 2xy?
VF(z,y,z) = % — 222y
-1

, VF(2,1,4):[ 23— 2(2)2(1)
~1

A vector that is normal to the surface is [8, 0, —1]. Another normal vector is [-8,0, 1].

8. This is Problem 43c in section 14.6. Below is the solution from the solutions manual.

f0,2,2)=1, £,(0,%, %) =1, f,(0,%,%)=-1, f,(0,%, %)=,

= L(x, ,2) = 1+1(x—0) - (y——) (z-Z)=x-p-z+Z+1

Group Work Problems
1. V =ayz z =2,y =1/2, z = 4. Each of the lengths increases by 21—16, so Az = Ay = Az =2/16.

AV = dV = yzAx + zzAy + zyAz
= (2+8+1)(2/16) = 22/16 in®

2. Screen captures of handwritten solutions to this problem are below.

e e () L

We Y\"‘Qot a,b Such +La+ —a

o= VYfe M\(") )

HL; Y } i" (”) 1

- fa+2 \
= \3'—-“‘]'6«.
B ot \Bi( =), so
o T
o U f bl ["?L;'Hﬁ'

(-4) ’i"%“" a= A=
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'11:1.:11&.‘}' tlou. 4y surfece f= ﬂ\((ky"....t,l‘) has m
urm.' 'Jt.l:.'l.'ﬂr q F 3 F= ,/?n("'f-‘:l -ru"’)-a- ; 5o

1 B 0
5] - 1) i

Tlave Yx=2=3  has  norkgl vecton #‘—[?3
-\ atl

("‘j 'a spuJ« o )

We Uun+ t.niun'h, u.rL;‘_,, 'QF T'HH‘“I +e ?'\l -
qF "‘A o @ 4or ei'u\ﬂ'

®
Can, Ufe ‘:i“‘"‘ UF = 2R , A 2 emsfont @ & ”@

x:-\-"fz-—
=$ at (‘l’+; 'ﬂ) (5"'#':'_":""{' 7{"-"' full uaﬂé:) ]ﬂ
N.DTE".“ .l ..;.f Yo likes 2= ﬂ,.("-f(-li]" + fa}"\ = jh{l ) =0
f\N\ --‘) ‘faw'l‘ u (_—_{/,_Jajﬂl i N
ﬂEnﬁ.ﬁ M—} Jcﬁau‘ -rif{,%a‘; 6 is act » selution .
“ L]
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V Worksheet 5

Sections from Thomas 13" edition: 14.7, 14.8, 14.9

Exercises

1. Find the dimensions of a rectangular box of maximum volume such that the sum of its 12 lengths is a
constant L.

2. Calculate the extreme values of the function f(z,y) = 22 + 4y? + 2 — 2y on the closed region bounded by
2%+ 4y? = 4.

3. Consider the function f(x,y) = 3zy — 23 — y>. Find the points where the tangent plane is horizontal, find
the critical points of f(z,y), and classify the critical points as min, max, or saddle points.

4. 14.9.4: Use Taylor’s formula for f(z,y) at the origin to find quadratic and cubic approximations to f near
the origin.

f(z,y) = sin(z) cos(y)
Group Work Exercises

1. Use Lagrange Multipliers to calculate the dimensions of an aluminum can in the shape of a cylinder,
whose volume is V, and whose surface area is minimum.

2. Problem 41 in section 14.7: A flat circular plate lies in the region 22 + 92 < 1. The plate, including
the boundary, is heated so that the temperature at the point (z,y) is T'(z,y) = 2* + 2y*> — z. Find the
temperatures at the hottest and coldest points on the plate.
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Partial Solutions

1. Find the dimensions of a rectangular box of maximum volume such that the sum of its 12 lengths is a constant L.

Letting the dimensions be a, b, and ¢, then V' = abc. To incorporate the length constraint, we will eliminate
cby using 4a +4b+4c¢ = L, or ¢ = L/4 — a — b. The volume is

V =abc = ab(L/4 — a — b) = abL/4 — a*b — ab®
Vo=bL/4—2ab—b*=0=2a+b=1L/4
Vi =aL/4—a®>—2ab=0=2b+a=L/4

Solving these two questions yields a« = b = L/12. Not surprisingly, ¢ = L/12. From the geometrical
nature of this problem, this critical point corresponds to a maximum. The rectangular box is a cube with
sides of length L /12.

Another approach to this problem would be to use Lagrange Multipliers.

2. Setting the gradient to the zero vector yields the critical points.

Vf= [ 8 } - [ ?yﬂf; ] = (z,y) = (~0.5,0.25)

The second derivative test yields that this is a minimum, and f(—0.5,0.25) = —0.5.

Now we need to see if there are any extrema on the boundary. We can use Lagrange Multipliers, or
we can use a parametric representation of the curve that represents the boundary. With a parametric
approach, we can set

r =2cost, y=-sint

At this point, we can either use the chain rule, or substitute our parametric representation into f and then
differentiate. Either approach is fine, but using substitution, f(x,y) = f(2(t),y(t)) = 22 cos® t + 4sin® ¢ +
2cost — 2sint = 4 + 2(cos(t) — sin(¢)). Then

f'(t) =0+ 2(—sin(t) —cos(t)) = cos(t)=—sin(t) = t= ?%, %r
F(Ty=1-2v2
f(%”) =4+2V2

Putting everything together, the absolute max is f(F) = 4 + 2/2, absolute min is f(—0.5,0.25) = —0.5.

3. The tangent plane is horizontal at points where V f(z, y) is the zero vector.

[ 3y — 32
vf{?)x—?)yQ}

The gradient vector has zero magnitude when

0 = 3y — 322
0 = 3z — 3y°

Rearranging these equations yields the two curves y = 2? and = = y?. These curves intersect at two
points, (0,0), and (1,1). These are the only two points where the tangent plane is horizontal.
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Points where the tangent plane is horizontal correspond to critical points. So the two points, (0,0) and
(1,1), could indicate local minima/maxima, or they could located a saddle points. We use the second
derivative test to tell us if they are.

D = foufyy — [, = (=62)(—6y) — (3)(3) = 36zy — 9

At (0,0), D is negative, so we have a saddle at (0,0).

At (1,1), D = 36 — 9 = 27, and f,,(1,1) = —6. Since D is positive and f,(1, 1) is negative, we have a
local maximum at (1, 1).

In case it helps, shown below are contour and surface plots of f(z,y) = 3zy — 23 — y3.

oo - -

05 A

4. 14.9.4: Below is a screen capture from a solutions manual.
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f(x,¥)=sinxcos y= f, =cos xcos y, fy =—sin xsin y, fi, =-sin xcos p, f,,, =—cos xsin y,

fiy =—sinxeosy = f(x,3)= f(0,00+xf(0,0)+ yf, (0, 0}+%[x2fﬂ(ﬂ, 0) +2xp 1y, (0, 0)+y2f}}.(0, 0)}
= 0+x-1+y-0+%(x2 -l[}+‘.’.:gr-0+y2 -U) = x, quadratic approximation;

Jrxe =—cos xcos y, fip, =sin xsin y, fz}}' = —CO08 X COS J, f}'}:v =sin x sin y

= f(x, ¥) ~ quadratic +%[x3 e 0,00+ 357 yf0 (0, 0)+ 3592 £,,(0, 0)+ 3 £, (0, 0)]

=x+ é[f (=D 432230+ 392 (D + .{}} = x—JE:(xB +3xy2), cubic approximation

Group Work Exercises

1. Let the radius and height of the can be r and h. Then V = nr?h, and the surface area, S, is
S = 2nrh + 2mr?

Using Lagrange Multipliers, g = g(r, h) = nr?h — V, we compute the gradients

| Se | | 2rh+4nr
VS_{S;L}_[ 27r }

2mrh
Vg—{ r] }

r

When S is minimum, the gradients are parallel.

VS =\VV
{ 2wh + 47nr ] [ 2mrh }
= A 2
2rr r

The second component gives 27r = Arr?, or r = 2/\. The first component gives us

2wh + 4nr = A2nrh

h+2r = Arh
h+4/) = A(2/\h
Ah+4 =2\h
h=d4/\=2r
But V = mr2h, so
16 , 167 167\ 1/3

Thus, to minimize surface area for fixed V, use the dimensions

2 _cl6m\-v3 v LV
1=25) = =2yl

T =

2. This was based on Problem 41 in section 14.7. Below is the solution from the solutions manual.
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To(x,y)=2x-1=0 and 7, (x, ) =4y =0=>x=1 and y=0 with T(%,O):ﬁ%; on the boundary
X4y’ =1:T(x, y)=—x* —x+2 for -1<x<1=T"(x, ) =-2x-1=0=>x=—1 and y=+43,

T(ﬁ%,é):%,r(%,ﬁ@):% T(-1,0)=2, and T(L, 0)=0=> the hottest is (2%) at (~

(*%, 73), the coldest is (*%)o at (%’ O)'

VI Worksheet 6

Sections from Thomas 13*" edition: 15.1, 15.2, 15.3, 15.4

Exercises
1. 15.4 Problem 32: Calculate the area common to the interiors of the cardioids » = 1+cosf and r = 1—cos¥8.

2. (a) Constructa double integral that represents the volume of the solid enclosed by the cylinder 2% +y? =
1, the planes z = 1 — y, = 0, z = 0, in the first octant. Use the integration order dy dx.

(b) Change the order of integration to the problem in part (a).

3. Calculate the area of region R in the xy-plane for which the integral is maximum.

2
X
9— = —4y%)dA
J 0= )
4 4 R
//e“‘dazdy
0 Jy

5. Evaluate the iterated integral by converting to polar coordinates.

1 py/2—y2
/ / xdx dy
0 Jy

4. Evaluate the double integral.

6. Consider the following iterated integral:

V2 pA—z2
/ / rdydx
0 T

(a) Sketch the region of integration, R.
(b) Change the order of integration to dzdy.

(c) Use polar coordinates to evaluate / / xdA.
R

Group Work Problems

1. (2 marks) Convert to a double integral in polar coordinates.

2 py/i—(a—2)2
/ / xy dy dz
0 Jo
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2. (2 marks) 15.3 Problem 12: Sketch the region bounded by the lines y = = — 2, y = —z and the curve
y = y/x. Construct one or two double integrals that together represent the area of the region.

3. (2 bonus marks) Compute the area of the region in the previous problem using one or two double inte-
grals. These bonus marks are graded for accuracy.
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Partial Solutions

1. 15.4 Problem 32: A screen capture from a solutions manual is below.

3. A= 4](;’/2j;_°°sgr dr d6 = 2](;”2(%—2cos0+%) d6 =37 -4

2. Sketches of region R and the solid are below.

% M
|ts,0,)

/i'\/

The solid lies under the surface z = 1—y and above the quarter circle R, with0 <z < 1,0 <y < v1 — 22.

V:/Lf(m,y)dA:Al/om(l—y)dydx

We could also integrate with respect to « first.

V=/Af(x,y)dA=/01/OM<1—y>dxdy

3. The region Ris given by all those points (x, y) where 9—22 /4—4y? < 0. R cannot have any parts where the
integrand is negative, and if there is any domain not part of R where the integrand is positive we could
add it to R and increase the value of the integral. R is the region bounded by the ellipse 2% /4 + 4y? = 9,
or

22 92%y2
& 3
The larger semi axis is @ = 6 and the smaller one is b = 3/2. The area is Tab = 9.

=1

4. Theintegral [ e’ da cannot be expressed in terms of elementary functions. So what can we do to evaluate
the double integral? The integration region is bounded by the lines y = 0, z = 4, and y = z. Changing
the order of integration, the double integral becomes

4 4 4 ez
//ez da:dyz//eQE dydzx
0o Jy o Jo
/4 xgy:a:
= ye
0
4
.2
:/xe”“dx
0

4

dx

y=0

2
el’

2 1o
16_1

2

e
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Changing the order of integration can sometimes make it easier to evaluate certain integrals.

5. The integral

1 \2—y?
/ / zdz dy
0 Jy

becomes

w/4 V2

/ / (rcos@)rdrdd
0 0

Thus,

/4 V2 /4 V2
/ / (rcos@)rdrdﬂz/ cosﬂd@/ r?dr
0 0 0 0
V2
= @ / r2 dr
2 Jo
V3 (V)P

2 3

_2
3

6. Handwritten solutions to this problem are in a screen capture below.
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(a) Draw the region R of integration in the plane,
X € (e, ‘1-’;1
Y € [«, V4 ]
% u:l Vi-x*

- yrivyte
41“‘ ‘{"La.‘-*'] “)T ‘1 ?

={twlasxcﬁ,xsﬁs-fﬁ’§

(b) Find iterated integral(s) representing the same double integral, i.e. f j zdA,
but with the order of integration switched to dedy.

- gﬂg 'xo{'xd{j ™ g g andﬂ

N~ N N
R R

(c) Unepolumordinatmtnevﬂuuefj;:dd.

(( xdh g’-’%: C(h,,e]rgrge

= gﬂi Lnf@ﬂ’e gL e dy

E L]
l‘.|.-
% el R ﬁ}_‘&‘_
= 5w ’ '?( -—("‘-{ 3
1}?_{ °
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Group Work Problems

1. We are given that z € [0,2] and y € [0, /4 — (x — 2)?]. To understand the shape of the region of integra-

tion, let’s rearrange our limits for y.

0<y<y4—(z-2)?
Yy <4—(z-2)°
(x_2)2+y2§22

The region is bounded by the circle of radius 2, centered at (2, 0).

!

OL'” . 1
't

we are onlk Iga['cr,,;1 at ?’
circle gﬁ‘:—ltﬂﬂjta_j e C 92*3

Now convert to polar.

($_2)2+y2 §22
y? +a? <dx
r? < 4rcosf

r <4cosf

Note that if y > 0, then 8 € [0, ]. Divide the quarter circle into two regions, Ry and R,.

A WE'..W.[ hffgi
96[931{{

ar‘[’ﬂr ::5F
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Thus, the double integral in Cartesian becomes two double integrals in polar.

2 /A= (2—2)2
// a:ydydx:// dA—l—// dA
0 Jo Ry Rs

2. 15.3 Problem 12: A screen capture from a solutions manual is below.

12, f;jfldy dx+j14ffz1dydx
= P e [0,

= [o(Vr +x) e+ 114(&_x+2)dx

3

1 4
= [;x3/2 +lx2}0 +[;x3/2 —1x2 +2x}1 =13

3 2 3 2

e
T

i
%

i

|

Er“{‘itdi
xX>L

\ becomess

o \

reesf =1 \

\or ‘

1\‘: =Z ,-sl’.e ::9

w/4 p2sect /2
:/ / (rcos8)(rsin ) rdrdf —|—/
0 0 T

Note: the question above was taken directly from a 2014 Math 2401 Quiz.

/4

4cosf
/ (rcos)(rsind) rdrdf
0
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VII

Worksheet 7

Sections from Thomas 13" edition: 15.5, 15.6, 15.7, 15.8

Exercises

1.

15.5 Problem 30: Find the volume of the region in the first octant bounded by the coordinate planes and
the surface z = 4 — 22 — y.

2. A solid is bounded below by z = /22 + y? and above by z = 1. The density of the solid at each point P
in the solid is proportional the distance from P to the z-axis.
(a) Calculate the mass of the solid.
(b) Calculate the center of mass of the solid.
3. Use a change of variables to evaluate / / (x + y)dA, where Q is the region bounded by
Q
x—y=0, z—y=mw, x+2y=0, x+2y=mn/2

4. Construct a triple integral that represents the volume of the solid bounded above by z = 1 and below by
z = /22 + 92

5. Construct an integral that represents the volume of the region bounded by 22 + y = 1 and 2% + y = 1, in
the first octant.

6. Set up the triple integral in at least two other ways by changing the integration order.

1 1 pley
/ / / f(z,y,2)dzdydx
o JvzJo
Group Work Problems

1. (2 marks) Calculate the volume of the ice cream cone, bounded below by z = /3x2 + 3y? and bounded
above by 2 + y% + 2% = 1.

2. (2 marks) A single wedge is cut from a spherical ball of radius R by two planes that meet in a diameter.
The angle between the planes is a € (0,7/2). Use spherical coordinates to construct a triple integral that
represents the volume of the wedge.

3. (bonus 2 marks) In the previous question, what is the volume of the solid that remains? This bonus

question is graded for accuracy.
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Partial Solutions

1. 15.5 Problem 30: The solution for this problem is as shown in the screen capture from a solutions manual
below.

0. V[T LT = O (4 )= o -7 4o e

:%Lf(4—x2)2 dx:j§(8—4x2 +§)dx:%

2. (a) The distance from any point in the solid to the z-axis is r. The density function is §(x,y) = kr, where
k is a constant of proportionality.

2 1 g1 1 11
M:/ / / erdzdrd9:27rk/ 7“2(1—7”)d7“=2ﬂ'k‘(*—*) = km/6
o Jo Jr 0 3 4

(b) = =gy = 0by symmetry.
1 27 1 1
Mz = / / / r2zkdz drdf = 27rk/ r2(1 —r?)dr = 2rk/15 = z = 4/5
0 0 T 0

3. Letu=2—yandv =2+2y. Thenz = (2u+v)/3,y = (v —u)/3,and J = 1/3.

1 T w/2 7T3
//(ery)dA:f/ / (u+2v)dvdu = —
Q 9Jo Jo 18

4. The solid is a cone with vertex at the origin.

1 Vi—z2 1
volume = / / / dzdydx
—1J V122 J /224y

1 pl—z? py/I—y
5. The volume can be represented with the triple integral / / / dzdydz
o Jo 0

6. Below is a screen capture that gives all of the different ways the integral could be constructed in Cartesian.
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The diagrams show the projections of E on the zy-, yz-, and zz-planes. Therefore
L2l f(z,y, 2)dzdydz = [} )7 f(z,y, z)dzdz dy

1pl—zp? *
=Ll ) f(I,y:Z)dfddeZfolfol y_‘?jf(z,y,z)dzdzdy

= Ll VF £, 2)dydzdz = [3[$ [VF f(z,y, 2)dydzd

Group Work Problems

1. Using cylindrical coordinates, we obtain

2 pl/2  pV/1-72 _
V= / / / rdzdrdo — "2 V3)
0 0 3 3

2. If we position the planes so that they meet along the z-axis, assume that the planes create only one wedge,
and one of the planes is the zz-plane, then the volume of the wedge is:

« s R
Vi = [ [ [ ##sinodpasas

In case it helps, the solid that is removed looks a bit like one slice of an orange.

a T R 9
Vwedge = / / / ,02 Sll’l(bdpd(l)d@ = —aRS
o Jo Jo 3

The volume of the solid that remains is

3. The volume of the wedge is:

4 2 2R3
Vsolid = *7TR3 — *aR?’

2_
3 3 = G-
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VIII Additional Review Problems for Midterm 1

Sections from Thomas 13" edition: 12.4, 12.5, 12.6, 13.1, 13.2, 13.3, 13.4

Exercises

1.
2.

10.

11.

Construct a vector function, 7(t), whose curvature is ; for ¢ > 0, and 7(0) = 57

Construct a parametric representation of the curve that lies in the intersection of the surface 22 + 2y* = 2
and the plane  — y = 5. Draw a rough sketch of the curve.

. A ball rolls off a table 1 meter high with a speed of 0.5 m/s.

(a) Atwhat speed does the ball strike the floor?
(b) Where does the ball strike the floor?

Consider the surface 22 — 6x + 4y + 32 + 8z — 22 = 4.

(a) Name the surface.

(b) Draw a rough sketch of the surface. Do not forget to label the axes.

. Do the following lines intersect? If so, where? If not, calculate the distance between the two lines.

Fi(t) = 3047 + 5k +t(i — 7 + 2k)
2(s) =1+ 4] + 2k + s(j + k)

3

Problem 25 in 13.1: A particle moves along the top of the parabola y? = 2z from left to right at a constant
speed of 5 units per second. Find the velocity of the particle as it moves through the point (2, 2).

Problem 62 in Chapter 12 practice Exercises: a parallelogram has vertices A(2, —1,4), B(1,0,—-1), C(1, 2, 3)
— —
and D. Vectors BA and C'D point in the same direction.

(a) Find the coordinates of D.
(b) Find the area of the parallelogram.

. Let C be the curve given by the intersection of 2% + y* + 2% = 25 and = + y + z = 0. Calculate the length

of C. Hint: no integration is necessary.

. Compute the distance between the skew lines.

Li:ze=1+4+t y=-2+4+3t, z=4-2t
Lo:x=2u, y=2—-u, z=-34+2u

Surface S consists of the set of points whose distance from the z-axis are equal to v/1 — . Construct an
equation that represents S, name the surface, and create a rough sketch of it.

Starting from the point P(0, 1, 1), an object moves with velocity ¥(t) = (wsin(nt), —1, 7 cos(nt)), for 0 <
t<2.

(a) (6 points) Obtain the curve, 7(t), that gives the object’s position.
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(b) (4 points) On one graph, sketch 7(¢), indicate the direction of motion, and sketch the velocity vector
at time ¢t = 0.

12. The position of an object is given by #(t) = (2 cos(t), v/2sin(t), v2sin(t)) for t > 0.
(a) Compute the unit tangent vector T(¢).
(b) Compute the unit normal vector N(?).

(c) At what times, if any, is the curvature equal to 2?
(d) When has the object travelled a distance of 3 units?

Solutions

Partial solutions to all of the above problems will be posted shortly after the lecture prior to their midterm.
Students are encouraged to work on all of the above problems before comparing their work to the solutions.
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Partial Solutions to Additional Review Problems for Midterm 1

1. Circles have constant curvature equal to the inverse of their radius. The curve 2% + (y — 1) = 4% is a
circle with radius 4 and has curvature ; for all points on the curve. This curve also passes through the
point (0,5). The parametrization = = 4sin(t), y = 4cos(t) + 1 satisfies the equation of this circle. The
parametrization also yields a vector function 7 = x(t)i + y(t); that has curvature 1 for all ¢, and that
satisfies 7(0) = 5].

2. Letz =t,theny =¢—5,and z = t? + 2(t — 5)2. A vector function that represents the intersection of the
surfaces is

t
(t) = t—5
t2 4 2(t — 5)2

To draw a rough sketch of a curve, it is often helpful to identify a few points on the curve and then
connect the dots in the sketch.

0 5 10
Foy=1| -5 |, #5)=1] 0|, F10)=| 5
50 25 150

=0

3. Below is a screen capture of handwritten notes.
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. ) p— Y 1TE)
RO5 1) Ball Rolling off of a Table (Projectile Motion, 13.2) | <
5 A ball rolls off a table 1 meter high with a speed of 0.5 m/s. 0 %
a) What speed does the ball strike the floor? s
b) Where does the ball strike the floor? : r O_r,‘x
-y ! == = >
. "(f‘) . 0_\ P z\,-g{od‘*"j ‘=‘\’({}; [’it +C'L‘X. gbl.\- V(o) | S ¢
a accde\—d‘tm\__ a -9 | > - b rz.e o A
/v | T\, Positiop 2 T(E) = | i
| n Tl ’U'('{ \." —jt l 4 wl'
‘o Clz { ’ (Y =0, msj i

ﬁw)( ?{o\‘\l L K—O\ ] So 0(\:0) 0(1_’—'\ 2

:‘ _.ﬁt‘t/z *0{1‘.

4. First express the given equation for the surface into standard form so that we can more easily identify

and sketch it.
(22 =62 +9—-9)+ (2 +4y+4—4)— (2> —82+16-16) =4
(-3 -9+ (y+22—-4—(2—4)>*+16=4
(@=3)"+@W+2° - (-4 =1
The surface is centered on the point (3, —2,4).

(a) By inspection, the surface is a hyperboloid of one sheet.

(b)
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& >
e x
5. Set 7 = 73 yields three equations in two unknowns. Solving gives t = —2 and s = —1. Substitution gives

the point of intersection, which is (1, 3,1).

6. The velocity vector is tangent to the graph of y> = 2z at the point (2,2), has length 5, and a positive

component. Implicit differentiation of y* = 2z leads to Zy% = 2,s0at (2,2), % = 1/2. The tangent

vector at (2, 2) points in the direction of the vector i + 0.55. A unit vector in this direction is

1 A N
_ i+0.5')
1+1/4( J

The desired velocity vector is

T i o (i+03))

7. (a) Here are two approaches you can use to solve this problem.

i. The line through Aand Bisx = 1+ ¢,y = —t,2 = —1 + 5¢; the line through C and D must be
paralleland is Ly : = 14+t,y = 2—t, 2 = 3+5¢. Theline throughBand Cisx = 1,y = 24+2s,2 =
3 + 4s; the line through A and D must be parallel and is Ly : ¢ = 2,y = —1+ 25,2 = 4+ 4s. The
lines L; and Lo intersect at D(2,1,8), wheret = 1and s = 1.
ii. BA =i — j + 5k, vectors BA and CD are parallel, so D is located at D(1 4+ 1,2 — 1,3+ 5), or
D(2,1,8).
(b) The areais |(2j + 4k) x (i — j + 5k)| = 6/6 = /216
8. The curve C is a great circle on a sphere of radius 5. The length is the circumference of a circle of radius
5, which is 107.

9. The vector #, = i + 3}' — 2k is parallel to Ly, and ¥, = 2 —3’ + 2k is parallel to Ly. Thus 4@ = ¥ X ¥ =
141 — 85 — 5k is perpendicular to both lines. Point P(1, —2,4) is on line L;, and point S(0, 3, —3) is on line
—
L. The length of projection of PS onto @ gives the desired distance.

—
= | PS-a. ’PS"“’ |—14-40+35 19
prOJﬁPS‘: ——U| = — — —
a4 - || 52 4 82 4 142 V285
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10. The distance from any point (z,y, z) to the z-axis is y/22 + y2.
V2a2+yi=vl-—x
r=1-22—y°
By inspection, the surface is a paraboloid with vertex at the point (1,0, 0). The paraboloid opens over the
negative z-axis.

11. (a)

7 / Gt = (— cos(wt), —t, sin(xt)) + C

F(O) = <07 17 1> = <_17070> + é
C=(1,1,1)
7= (1 — cos(mt),1 —t,1 + sin(nt))

(b) To draw a rough sketch of a curve, it is often helpful to identify a few points on the curve and then
connect the dots in the sketch.

z
2 T~ T
o
- =
. X
X
12. (a)
¥ = (—2sin(t), V2 cos(t), V2 cos(t))
|o] = \/(—2 sin(t))2 + (V2 cos(t))2 + (V2 cos(t))? = 2
T =7/|7] = %(—2 sin(t), V2 cos(t), V2 cos(t))
(b)

(—2cos(t), —V/2sin(t), —v/2sin(t))

N=T")|T"| = %(—2cos(t), —v/2sin(t), —v/2sin(t))
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(c) Using results from the previous parts of this question,

|~

K(t) = T’

DN | =
—
N =

The curvature is constant for all ¢ and is never equal to 2.

=

(d) Using results from the previous parts of this question,

t t
3:/ \17(7-)|d7-:/ 2dr = 21
0 0

The object has moved a distance of 3 units when ¢ = 3/2.
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IX Additional Review Problems for Midterm 2
Sections from Thomas 13" edition: 14.1, 14.2, 14.3, 14.4, 14.5, 14.6

Exercises

1. Below is a plot of a function, f(z,y), and f;(z,y) = % (x,y). Which one is which? Identify each plot as
either f(x,y), or f,(z,y), and justify your reasoning.

2. Construct an equation for the line tangent to the curve of intersection of the surfaces z = z? + y? and
422 +y? + 22 =9at P(—1,1,2).

3. Sketch the level curves for the indicated values of C, if possible.
@ f(z,y)="2YC=-1,0,1
(b) f(z,y) = 252, C=0,1,1,2
4. Determine the domain of each function, and indicate whether the domain is open and/or closed.
@ R(z,y) ="+
b) f(z,y) =In(l —a? —y?)
© g(z,y) = 1 —a? —y?

2 2
(@ hay) =
© ufey) = =2

5. Evaluate the following limits, or show that they do not exist.

.'Ezy

lim —2—
(2,y)—(0,0) T4 4 32

lim it A
(zy)—(0,1) 22 +y2 — 2y + 1

(@)

(b)

6. Construct a function, f(x,y), whose level curves are straight lines that meet at the point P(0, 1).

7. Construct a function, f(z,y), whose level curves, f(x,y) = C are circles centered on the origin, and have

radius veC.

Page 46



Math 2550, Introduction to Multivariable Calculus

8.

10.

11.

12.

13.

Compute the value of 2= if
2 +y? =22 =22y +2)

defines z as a function two independent variables y and z.

. Problem 42a in Section 14.4. The lengths, a, b, c of the edges of a rectangular box are changing with time.

At a particular time,a = 1m,b=2m,c=3m, da/dt = db/dt = 1 m/sec, and dc/dt = —3 m/sec. At
what rates is the volume V' and surface area S of the box changing?

The temperature of an object, T, at time ¢, is a function of its density, p, and its distance from a point, D.

T:f(p?th)

Suppose t > 0 and

1
—9_ ot _
p)=2-¢', D) =
Suppose also thatt =1,
of _, of _ ., o _|
op 7 oD T ot

Is the temperature at ¢ = 1 increasing or decreasing?

Construct an equation for the plane that is tangent to 2 = 4z? + y? at Py(1, 1, 5). Also construct an
equation for the normal line at the point.

Identify the directions in which the function increases and decreases most rapidly at P(1, 0). Then find
the derivatives of the function in these directions.

f(w, y) = 2%y + ™ siny
Problem 20 from 14.6: By about how much will

f(x, y, 2) = e” cosyz

change as the point P(z, y, z) moves from the origin a distance of ds = 0.1 unit in the direction of
2i +2j — 2k?

Solutions

Partial solutions to all of the above problems will be posted shortly after the lecture prior to their midterm.
Students are encouraged to work on all of the above problems before comparing their work to the solutions.
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Partial Solutions
1. Consider the point where z = —3, y = —3. If (A) were f(z,y), then the rate of change, in the z-direction,

is positive, at z = —3, y = —3. The surface in (B) at this point is positive.

If (B) were f(x,y), then the rate of change at + = —3 and y = —3 in the z-direction, is negative, and the
value of the surface in (A) at z = —3 and y = —3 is positive, so (B) cannot be f(z,y).

So (A) is f(z,y), and (B) is f.(z,v).

Still not convinced? Try considering another point, such as (—3,3). Also, the functions used to create
these plots were f(z,y) = ycos(z) + sin(y) and f,(z,y) = —ysin(x). Try plotting the surfaces in your
favorite graphing software on the interval —3 < z < 3,and -3 <y < 3.

2. Let f = z—2? —y* and g = 42* + y* + z? — 9. Then the tangent line is perpendicular to both V f and Vg.
Vector 7 = V f x Vg is parallel to the desired tangent line.

—2z 2
vf(xvyv Z) = *2y ) vf(_L 1, 2) = —2
I 1
8z | [ -8
Vy(z,y,2)=| 2y |, Vg(-=1,1,2)=| 2
2z | L 4
1 ik —10
Vi(-1,1,2) xVg(-1,1,2)=| 2 -2 1 |=]| —16
-8 2 4 —12

Parametric vector equations for the tangent line at (—1,1, 2) are
r=-1-10t, y=1-16t, z=2-—12¢.

3. (a) To plot the level curves, we set z = C, and solve for y:

o ny

x
Cr=Iny
yzecx

(b) To plot the level curves, we set z = C, and solve for y:

2

oz
2 4y
Cy? = (1 - C)a?
If C = 0, then we obtain the level curve x = 0. If C' # 0, then
1 —
y== ch, C#0

For C = 2, y is undefined, so the level curve for C' = 2 does not exist (because the range of f is the
closed interval [0, 1]. The level curves for the other values are:

C =0, z =0 (the vertical line that lies on the y-axis)
C=1/2,y=+zx
C=1, y=0
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C=-1
4
2
C_ZU
-2 0 Z

4. (a) The domain is R?, the boundary is empty, and so the the domain is both closed and open, or clopen.

(b) The domain is the set D = {(z,y)|2? + y? < 1}. The domain does not include its boundary, so the
domain is open.

(c) The domain is the set D = {(z,y)|z* + y* < 1}. The domain includes its entire boundary, so the
domain is closed.

(d) The domain is the set D = {(z,y)|z? + y* < 1,2 # y}. The domain does not include its entire
boundary, so the domain is not closed. The domain consists of points in its boundary, so the domain
is not open. The domain is neither open nor closed.

(e) The domain is the set D = {(z,y)|z*> + y® # 0,2 < 1}. The domain consists entirely of interior
points, so the domain is open.

5. (a) Along straight lines that pass through the origin, y = kz, and

%y ) 22 (kx)

lim  f(x,y) =

= 1' —_— _—
(,5)—(0,0) (2)—(0.0) TP+ 42 om0 2t + (kx)?
Along any straight line, the limit is zero. If we approach the limit point along parabolas y = kz?,

%y ) 22 (kx?) k

(x,y)1—>m(0,0) xt + 12 20 74 + (kx2)?2  1+k2

f(z,y)

lim
(=,9)—(0,0)

The result depends on %, so the limit does not exist.
(b) Try evaluating the limit along the y-axis and along y = = + 1.

6. The set of straight lines are given by y = Cx + 1. Rearranging yields

y—1
T

O:

,x#0

A function that meets the given criteria is

1
,x#0

fla,y) =Y

T

There are other functions that will also meet the given criteria.
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7. The set of circles with radius e“ are given by 22 + y? = e“. Applying the natural logarithm to both sides
of the equation yields

In(z? +4?) =C
A function that meets the given criteria is

fx,y) =In(a® +y7)
There are other functions that will also meet the given criteria.

8. You should obtain that % = %

9. This is Problem 42a in section 14.4. Below is the solution from the solutions manual for both parts (a)
and (b). Part (b) involves finding the rate at which the lengths of the diagonals are changing.

dV _ 0oV da 0V db , 0V de _ dc
di  oa di ob dt | oc dt (bc) +(“C) +(“b)

= (2 m)(3 m)(1 m/sec) + (1 m)(3 m)(1 m/sec) + (1 m)(2 m)(=3 m/sec) =3 m> /sec and the

V =abc= 4~

av
dt

a=l1,b=2,c=3

dS _3S da , S db , 8S de db dc
volume is increasing; S = 2ab+2ac+2bc:>dt S Torar Tecd= 2(b+c) +2(a+c) +2(a+b)

=2(5m)(1 m/sec)+ 2(4 m)(1 m/sec)+2(3m)(-3m/sec)=0m 2 /sec and the surface area is

dt

a=1,b=2,c=3
o Dog? +h2+o2 —dD _ @D da 8D db D de _ 1 db  .dc
not changing; D =Na" +b" +¢” = =30 U+ @ Tac 4t - T ( ady+b% ”d:)
fi—ffa by e =(ﬁ] [(1 m)(1 m / sec) + (2 m)(1 m/ sec)+ (3 m)(~3 m/sec)| = —ﬁm/secw: the

diagonals are decreasing in length

10. First we construct an expression for
ar

dt
in terms of f and t.

dT  dfdp OfdD ofdt _,0f -1 9f of

dt —opdi oD dr ordi C 9p G+ 12oD ot

Next we substitute our given values for the partial derivatives.

ar ,0f -1 of  of
9 ¢ 9y TGr1Zop T ar
L N
e (1+1)2
3 2
R

The rate of change of temperature is positive, so the temperature is increasing when ¢ = 1.

11. Many thanks to JD Walsh for writing the question and solution for this problem.
Let f(z, y) = 2 = 42 + y*. Here, we need only calculate two partial derivatives

fz =8 fy=2y
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At the point Py(xo, yo, 20) = (1, 1, 5) we have
fe(1,1) =8 fy(1,1)=2
The equation for the plane tangent to the surface is given by
fe(wo, yo)(x — 0) + fy (%0, Y0)(y — yo) — (2 — 20) =0

Therefore, we have
8xz—-1)+2(y—1)—(2—-5)=0

This simplifies to 8z + 2y — z = 5. For the normal line at the point P:

r=1+48t y=1+2t z=05—t

12. Many thanks to JD Walsh for writing the question and solution for this problem.
The direction in which the function increases most rapidly is the direction of the gradient, so we begin
by computing the gradient. The partial derivatives are

fo =22y + ye™¥siny

fy= 22 + ze® cosy
Therefore, the gradient is
Vi(x, y) = 2y + ye™ siny)i + (22 + ze™ cosy)j
At Py, the gradient is
V£(1,0) = (2(1)(0) 4 (0)e*@ sin 0)i + ((1)% + (1)e*® cos 0)j = 0i + 2j = 2
The magnitude of the gradient at P is
IVF(1,0)] = 02 +22 =2

Thus, the direction of greatest increase is

Vi(1,0)
V(0]

The direction of greatest decrease is the negative of that vector:

VL0
IVf(1,0)

The derivative in the direction of greatest increase is the magnitude
Vi1, 0)] =2
The derivative in the direction of greatest decrease is the negative of the magnitude

— IV, 0= -2
13. Many thanks to JD Walsh for writing the question and solution for this problem.

The direction of 2i 4 2j — 2k is the unit vector
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2i 4 2j — 2k 2i + 2j — 2k LEPUNE PR Y
u = = = —1 -
V22422 4 (=2)2 V12 3 V3B

The gradient of f is
Vf =e"cosyzi— ze*sinyzj — ye* sinyzk

At the origin, (0,0, 0), the gradient is

Vf=i
Thus the dot product we need is
Vilp -u= L
V3
Therefore, since ds = 0.1 = 1/10,
= (Tl -w) ds = 2 1o = o
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X Additional Review Problems for Midterm 3

Sections from Thomas 13" edition: 14.7, 14.8, 14.9, 15.1, 15.2, 15.3, 15.4

Exercises

1. 14.9, Problem 7: Use Taylor’s Formula for f(z,y) = In(2z + y + 1) at the origin to find quadratic and
cubic approximation of f near the origin.

2. 15.2 Problem 64: Find the volume of the solid cut from the square column |z| + |y| < 1 by the planes
z=0and 3z + z = 3.

3. Evaluate the following integrals.

11
a)/ / y cos(c* 4 z*) dx dy, where ¢ € R

(b)//1 . x2+y)dydx

(c) 15.4 Problem 48:

//R(;z:2 +y%)"2dA

R is the region inside the circle 224+ y?=2forz < —1.

5

4. Compute the average value of f(x,y) = x° cos(2?) over the region bounded by y = 4 — |z| and y = 2.

5. D is the region enclosed by curves y = 22, y = 3z. Construct double integrals in Cartesian coordinates
for both orders of integration.
/ / Ty dA
D

6. Construct an integral that represents the volume of the solid below z = 2% + 1, and above the region
inside the circle r = 3 cos(6), and outside r = 1 + cos¥.

7. Construct a double integral that represents the area of region bounded by r? = 4 cos 26.

8. Find the dimensions of the rectangle of greatest area that can be inscribed in the curve 22 /16 +y? /16 = 1
with sides parallel to the coordinate axes.

9. Construct iterated integrals to represent the volume of the following solids.

(a) The tetrahedron in the first octant bounded by the plane 22 +3y+6z = 12 and the coordinate planes.
(b) The solid enclosed by the parabolic cylinder y = 222 and the planes z = 0 and z = 2 — y.
(c) The area of the region inside the large loop but outside the smaller loop of = 1 + 2 cos 6.

10. Let D = {(z,y) |z <y < 1,0 <z <1}. Evaluate // cos(y?)dA.
11. Find all the local maxima, local minima, and saddle points of the function

flz,y) =2zy — 5a® — 2" + 4w + 4y — 4

12. Use Lagrange Multipliers to identify the point(s) on the surface z = xy + 1 closest to the origin.

Solutions

Partial solutions to all of the above problems will be posted shortly after the lecture prior to their midterm.
Students are encouraged to work on all of the above problems before comparing their work to the solutions.
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Partial Solutions

1. 14.9, Problem 7: A screen capture from a solutions manual is below.

-

1 _ 4 - 2 _ 1
.-f[x 1-:]—]1'][:2.1’+1-+1}:?_fx Z'u.|_5.|'|”|r.!I ‘x'-v'."fﬂ_§2x|_5-4]]31j""}'_(21-_‘»‘-'_)1’fw—l;lx-_w]]i

= [0 )= fO.0+x£ 0.0+ 3£,0.0+ 1 2 100,00+ 2001, 0,00+ ¥ £,,(0,0)

—0+x 24y 1+ b 22 (-4)+ 2ap- (<2) + 37 (-1}]=2x-—y+;(—4x2-4;y—y3]
=[2x+}=}—;—[2x+}=} . quadratic approximation;

- ___ 18 - ___ & - 4 __ 2

-'fD:'.'l.' (21-_‘?’-])1 * )Irl’."-} [21"-}'*[)"" ? 'Jlrx}"’ (Zx+ 34 l}-‘" ? f}’}'.!" t]x.y.]J.‘-

= f(x, y) = quadratic + 3] & £ (0, 0)+ 36 i (0, 0)+ 3577 £1,(0,0)+ 7 £, (0, 0 |
= (2x+y)-1(2x+y) +%(x3-16+3x2}'-3 +30° -4+y3-2)
=@x+p)-L@u+y) -1 (8 11227y 16 + )7

=(2x+y)— ; (2x+ y}l2 + ; (2x -‘—y}3, cubic approximation

2. 15.2 Problem 64: A screen capture from a solutions manual is below.

64. ¥ :jfljfil(s—sx) &y dx+J';J'ij(3—3x) dy dx = 6Ii)l(1—x2)dx+6 j;(1—x2) dr=4+2=6

3. Solutions to each of the integrals follow.

(a)
11 11 .,
/ / @ty cos(c* +x )dxdy—/ 7dy/ 172" cos(c* + o) dx

The first integral is zero because it is the integral of an odd function over an interval symmetric
about the origin. The answer is zero.

(b) We can convert to polar and use integration by parts.

1 pV1—22 /2 pl
/ / sin (\/ z2 + y2>dydac = / / sin(r)rdrdd
o Jo 0 0

w/2
= / (sinl — cos 1)df
0
= (m/2)(sinl — cos 1)

(c) 15.4 Problem 48: A screen capture from a solutions manual is below. The limits for » should be
— sec f to v/2, but the final answer is unaffected by the typo.
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48. Theregion R is shaded in the graph below.
¥
24

VR

-t 0 2

S~

x

As 0 ranges from 37/4 to 5z/4 the ray at angle € enters R at r=secé and leaves R at r= V2. Thus

”(xz +y2 )_2 dAd = Lfgr—“ -rdrd@
R

Snl4

3n/4

Sx/4 57/4 57z/4
:J —lr_2:| 6= l(2cos2n9—1) d&:lj i cos26’d9:lsin29} _1
secf 3ai4 4 4737/4 3x/4 4

4. The region is symmetric about the y-axis, and the function is odd about the y axis, meaning that f(z, y) =
f(—z,y). The average value is zero.

3 3w 9 VT
5. The integrals are / / zydydr = / / xy dzx dy.
0 Jx2 0 Jy/3

If we want to check an answer for such a problem, we can evaluate both and see if they yield the same
number.

w/3 3cos 6
6. The double integral is (1+72cos®0) rdrdd
—7/3 J1+cosb

7. Note that the curve 72 = 4 cos 20 is not defined when cos 26 is negative. So for § € (7/4,3n/4), the curve

is not defined. Also note that r? = 4 cos 26 implies r = +2+/cos 26, so we have both positive and negative
values of r for different values of §. A plot of the curve is shown below.

€ C fi O https//www.desmos.... 1¢ &t @ =

The area can be found using symmetry: the area of the two loops are equal, and the area of the bottom
half is equal to the area of the top half.

/4  pV4cos20
area = 4/ / rdrdd
0 0
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We are not asked to evaluate the integral, but if we were, we would find that the area is equal to 4.

8. The area of the rectangle is A = 4zy, and our constraint can be written as g(z,y) = 22 + y?> — 42 = 0
Using Lagrange Multipliers,

VA=)Vyg, g=2>+1y>—-42=0
4y | 2z
)=
The first component gives us y = Az/2, which if we substitute into the second component gives us

A = £2. Therefore y = +z, but since = and y represent lengths, we only consider y = «. Using x = y, our
constraint becomes 222 = 42, or x = 2v/2, so the rectangle has width 2z = 44/2 and width 2y = 4v/2.

9. A screen capture of handwritten solutions is below.

(a) The tetrahedron in the first octant bounded by the plane 2z + 3y + 6z = 12 and
the coordinate planes.

\)Je,um_ use J%dﬁd%"

X{[D G] em% o, '1]“334-0
yelou-%) 9% -5

2 € [@jZ- 3/1""‘/3]
6 (Y4-% (2-% -3
7 S S okl dx

o [

(b) The solid enclosed by the parabolic cylinder y = 222 and the planes z = 0 and
z=2-y.
9 A /\ ﬁwx oF_ Tt Tie Esuowiib
M

(992)
| : (53,0) 29 N QLx*S J%J“\JX

» (478
> (i/l/o] ?-S(-* g G SG 4%0@]{ Dfﬁ
1_ -2 e

q‘ = g lj (;{Xol(_/\ 0{1—
N - s ~® or rouu we Jxa[td dlaa(xa’a: tlo]a’td

(¢) The solid below z = 3% +1, and above the region inside the large loop but out5|dc
the smaller loop of r =1 + 2cosé.

x
we need reqias ond Rt, use. ﬁu]mref'*rr}
2=

i

6 ﬂ w¢ are
r=0 ;1*‘7'-?5 cntecested in
casf=~ "'ﬂ \ R Shadedk Vi

L = _’E—//j g

‘R - (-mffg %tnmﬁm}r&e‘ B %55’1 1+ 2 oh,o}
Gcew © \_‘?%c . X Y
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10. A screen capture of handwritten solutions is below.

11. Many thanks to JD Walsh for writing the question and solution for this problem.

We begin by finding the first-order partial derivatives:
f:=2y—10x+4 fy=2x -4y +4
Setting both equations equal to zero and combining:

2(—10z+2y+ 4=0)
+ 2 —4y+ 4=0
—18z +12=0

So z = 2/3. Substituting the z-value into the equation f, = 0 gives

2<§>—4y+4:0

. . .. _ PR . 2 4
This simplifies to y = 4/3. Thus, f has one critical point (2, 3).
To evaluate the behavior of f at the critical point, we need the second-order partial derivatives:

fmc:—l() fyy:_4 facyzz
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12.

This gives us

Joafyy — foy = —10(—4) — (2)> =40 -4 =36 >0
and f,, = —10 < 0. By the second derivative test, f has a local maximum at the point (2, 3).
Many thanks to JD Walsh for writing the question and solution for this problem.

To find the point closest to the origin, we want to minimize the distance from the origin:

f(x,y, 2) = Va2 +y? + 22
Subject to the condition
9(z, y, 2) =ay+1-2=0

The gradient functions are

VA {CIRT ) (N S— P (—— P ("
VR Vi F Pt 22 Vi F Pt 2

Vy(z,y, 2) =yi+aj—k
Applying the Lagrange Muliplier formula Vf = AVg:
x Yy z

—— =)y =z
Var? +y? + 22

Vit f 2+ 22
Rewriting all three equations gives us

A /I2+y2+22:£:g:_z
Y T

From this step on, we can ignore the formula with A, and consider the other three equations. The de-
scription of the problem tells us z = zy + 1, so we now have:

Ty
_ = = = — 1
. (zy +1)

Because x/y = y/x, we know 22 = y? and x = +y. Furthermore, we must have z/y = y/2 = £1. Thus,
the right-hand equation requires that —(zy + 1) = £1.

If we try —(zy + 1) = —1, then 2y = 0, so either x or y is zero. But this is not possible, since we have
z and y in the denominators of fractions. Thus, we must take —(zy + 1) = +1, which tells us zy = —2.
Therefore, z = ++/2.

Ifx =+v2,y=—v2 andif z = —v/2, y = V2. In either case, z = 2y + 1 = —1. Therefore, we have two

potential points:
(_ﬁa \/57 _1) and (\/5’ _\/ia _1)

The distances are

dist(—v/2, v/2, —1)
dist(v2, —v/2, —1)

Vv + (V22 + (-1 =
VD2 + (—VaR + (-1 =

Therefore, both points are equally close to the origin, and the solution is

(—V2, V2, -1) and (V2, V2, —1)

S
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